Models PFT 420 & Analog Output/Unscaled Pulse Repalr
PFT 420/2 Transmitter Parts

PFT 420
&
PFT 420/2

PFT 420 PFT 420/2

IRP-023-06
BadgerMeter, Inc. P 40122
®



ORDER INFORMATION: This repair parts bulletin shows an exploded view of the product with specific reference to those
items available for replacement. The item number and part number may change at any time; therefore, it is important when
placing an order that a complete description of the part, meter size, model, and serial number be provided.

Item No. Part Description Part Number
1 Screw, Fill. Head #10-32 X 3/4 et 55058-225
2 (O 7= ST TSP SO PP PE PSR PUTT RPN 58852-001
3 Gasket, HOUSING oot et 58855-001
4 Screw, PC Board, Pan Hd #6-32 X 1/4 e 55129-168
5 PC Board, FTA20M et 64199-001
6 Sensor, REEd SWItCN e e eeraeas 62704-003
7 Screw, Thrd FOrming #4-24 X 1/4 et 55202-114
8 LAY =TT a1 R e = N 22562-004
9 Housing Assembly (INd RCDL, OP & SCER) .....ccoiuiiiiiiiieiiiie et 58875-001

10 Screw, SEal (SC-ER&OP) ..ottt 25361-000
11 Housing Assembly, 2" & 3" Turbo Meter (Includes Reed Switch Pick-up).......c.......... 62947-001
11 Housing Assembly, 4" Turbo Meter (Includes Reed Switch Pick-up).......cccccevnecnne 62947-002
11 Housing Assembly, 6" Turbo Meter (Includes Reed Switch Pick-up).......cccccovrecnne 62947-003
12 Screw, Seal Fill. Hd #8-32 (Turbo & INd RCDL) ..o 32140-000

Copyright©Badger Meter, Inc. 2009. Allrights reserved.

Due to continuous research, product improvements and enhancements,
Badger Meter reserves the right to change product or system specifications

. without notice, except to the extent an outstanding contractual obligation exists.
Please see our website at

www.badgermeter.com
for specific contacts.

BadgerMeter, Inc.

P.O. Box 245036, Milwaukee, WI 53224-9536
Telephone: (414) 355-0400 / (800) 456-5023
Fax: (414) 355-7499 / (866) 613-9305
www.badgermeter.com




